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IE6L K % ® B GR  HDCP  NET |IEfGZ K % ® B GR  HDCP = NET
2 hE % 42 42 7.2 34.8 ] 31 KX FIHH 51 51 12.0 39.0
#E B5 F 46 46 10.8 35.2] 32 = EHKx 50 50 10.8 | 39.2
3 TE EX 44 44 8.4 35633 AE F=—H 4 4 4.8  39.2
4 HP BX 48 48 12.0 36.0 | 34 #fsp FREZ 43 43 3.6 39.4
5 dtiE MR 46 46 9.6 36.4] 35 XK F— 49 49 9.6 39.4
6 Ak AR 92 52 15.6 36.4 ] 36 HIl E— 48 48 8.4  39.6
7T fri & 40 40 3.6 36.4] 37 wmH HRE 48 48 8.4  39.6
B Ba 51 51 14.4 36.6 | 38 dc#t {&K 47 47 7.2 | 39.8
9 H# (EF 90 50 13.2 36.8 ] 39 #HB& BUE 53 53 13.2 | 39.8
10 i ES 50 50 13.2 36.8 | 40 Him % 47 47 7.2 1 39.8
" e 8E 43 43 6.0 37.0 | &1 & HMF 99 59 19.2 | 39.8
12 &l &= 54 54 16.8 37.2 | 42 KX B 52 52 12.0 40.0
13 25 & 48 48 10.8 37.2 | 83 FHH RZ 46 46 6.0 40.0
14 sl E— 47 47 9.6 37.4| 4 #E H-— 51 51 10.8 | 40.2
15 X F17 46 46 8.4 37.6 | 45 WT #X 44 4 3.6 40.4
16 $H &E& 46 46 8.4 37.6 | 46 Tk EF 50 50 9.6 40.4
17 FEX = 57 57 19.2 37.8 | 47 ME ME 43 43 2.4 | 40.6
18 #WF HEC 51 51 13.2 37.8 | 48 €H R 48 48 7.2 | 40.8
19 # (G 44 4 6.0 38.0| 49 tHE ZH== 51 51 9.6 41.4
20 EF & 50 50 12.0 38.0] 50 &H#H == 55 55 13.2 | 41.8
21 B E— 49 49 10.8 38.2 | 51 Wi #E 54 54 12.0 42.0
22 BAX XRB 43 43 4.8 38.2] 52 #F A 65 65 | 22.8 42.2
23 #%x FEZ 43 43 4.8 38.2 ] 53 FHH FHit 57 57 14.4 | 42.6
24 2H =B 55 55 16.8 38.2 | 54 # HH 51 51 1.2 43.8
25 #£ME =17 53 53 14.4 38.6 | 55 FEIL HAA 54 54 9.6 44.4
26 FNl ER— 53 53 14.4 38.6 | 56 ZEH TEF 68 68 | 22.8 45.2
21 #M@A =FA 58 58  19.2 | 38.8
28 BN & 52 52 13.2 | 38.8
29 BEE & 46 46 7.2  38.8
30 TE XE 45 45 6.0 39.0
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